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Q7 Model Solution – 40 Marks Marking Notes 

(a)  
Vol	of	space	=	Cylinder	‒		2×Cone 

= ଶ(2ܴ)ܴߨ −
2
3
 (ܴ)ଶܴߨ

= ଷܴߨ2 −
2
3
 ଷܴߨ

=
4
3
 ଷܴߨ

 

Scale 10C (0, 4, 5, 10) 
Low Partial Credit: 
• A relevant volume formulated 

 

High Partial Credit: 
• Vol of space formulated in terms of π 

and ܴ  
 

(b) 
(i) 

   
       12ଶ = 6ଶ +  ଶ|ܤܣ|

|ܤܣ| = ඥ12ଶ − 6ଶ = √108 = 6√3 
 

 

Scale 10B (0, 5, 10)  
Partial Credit: 
• indication of Pythagoras 

(b) 
(ii) 

 
ℎଵ
ℎଶ

=
6
12

=
ݎ
12

 

 
ݎ = 6	cm 

 

 
Scale 10C (0, 4, 5, 10)  
Low Partial Credit: 
• indication of similar triangles 
• indication of a relevant ratio  

 
High Partial Credit: 

• corresponding ratios identified but fails 
to finish 

Note: Accept correct answer without work 
 

(b) 
(iii) 

 
Cylinder = 12ଶߨ − 6ଶߨ =  ߨ108

Sphere = (6ඥ3)ߨ
ଶ
=  ߨ108

 
Scale 5C (0, 2, 4, 5) 
Low Partial Credit: 
• Surface Area in Fig. 3  substituted 
• Surface Area  in Fig 4 substituted 

 
High Partial Credit: 
• One Surface Area found   

 

(c)  
Vol =  (6)(12ଶ)ߨ

−൬
1
3
12ଶߨ × 12 −

1
3
6ଶߨ × 6൰ 

 
 

Vol =  cmଷ	ߨ360

 
Scale 5C (0, 2, 4, 5) 
Low Partial Credit: 
• Vol of cylinder found 
• Vol of truncated cone substituted 
• Vol of one cone found (12 or 6) 

 
High Partial Credit: 
• Volume  fully substituted but fails to 

finish  
• Volume of truncated cone found 

 
 
  


